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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2012
Part - III

EDUCATION — HONOURS
Paper - VI

Duration : 4 Hours ] [ Maximum Marks : 1

Candidates are required to give their answers in their own words as Jfar as practicable.

The figures in the margin indicate Jull marks.

GROUP - A
et -
1 Answer any one of the following questions : 1x20-=

@ (% 936 2o Tag fie ¢

a) Define standardised test. Describe the steps of constructing a standardis
test. : 4 +
wifire S ce i | @26 Sfifire SIS oot e fige @ |

b) What is meant by reliability of a test ? Discuss the different methods
determining reliability of a test. What are the causes of low reliability of
test ? 2+12

SeTHR RSarire e & @ ? worF FSataere Mt Rfey 5
A Foel zw@wmﬁmﬂmmmq@%f% ?

2. Answer any three of the following questions : 3x5=

@ @i foaf6 2osa Seq e 2

a) Explain the concept of evaluatiqn.
SETRICTR QRN I e |

b) State the disadvantages of essay-type test.
el St enjfRetaf S v |

c) What are the utilities of Cumulative Record Card ?
i =AfRsAsEa Seicaifreiaf 9 @) 2




ability of al
2+12 + 6

d)
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Make a comparison between ordinal and nominal scales of measurement.

TIPS QIR AHS (HET Pl A |
Write a note on content validity and construct validity.

e fioa qLel @ FMaomETs qfet T it o131 |

Answer any five of the following questions : 5x3=15
@ I #Afof 2eam Sed e ¢
a) What is ratio scale ?

ST (%5 F 2
b) When are parallel tests used ?

ST OS] FI IJIZTS 2 ?
c) What is concurrent validity ?

FRIRGETS IS FICF A0 2
d) What is the relation between validity and reliability of a test ?

| (I ST T2l @ fASaraisor ey i R 2 ‘

e) State three causes of lowering objectivity of a test.

Gl et (affewel 2ier foaf Frd e 3 |
f) Mention three advantages of essay-type tests.

A1 St fomfs Sotcanfier Srea @ |
g What is the split-half method of determining reliability ?

fASaraere et if-faufes «5fs F ¢

GROUP - B
fAete -

Answer any one of the following questions : 1 x 20 =20
@ W @ doem Bea fms
a) What is meant by variability of scores ? Which of the measures of variability is

most superior and why ?-

Compute mean and standard deviation of the following frequency distribution :

Scores : 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60 - 69

f: 2 4 10 8 4 2

N = 30

¥i
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What will be the value of mean and standard deviation if

i) 5 is added to each score,
ii) each score is multiplied by 2 ? 2+2+6+6+2+2
(FIEA [REwe! qe1ce F1 @RI 2 fJEsrer sifimeiaflm s @t @ 92 @ 2

5 wif Reraaft (3t 1% ¢ o [Rprfe ey ww ¢

.i Scores : 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60 - 69
£ 2 4 10 8 4 2

i : N = 30
: e & e Fgsfion w1t w7 207

i) ofofb it et 5 el 1 27,
i)  fefd ol 2 faca i v =3 2
b) Define percentile point and percentile rank. Determine P -5 and PR of score
30 from the following distribution :
Scores: |18 - 20|21 - 23|24 -26|27-29|30-32|33 -35|36 - 38|39 -41
R ki 3 B 5 10 10 8 7 3
: N =50

What is the utility of determining percentile point and percentile rank in

education ? 2+2+6+6+2+2
oI {37 8 =11l AIeE ket el | Mova Al [Retemfb (A P, @9k 30 (FHIEA
PR fAefy a2 ¢

Scores : |18 - 2021 - 23|24 - 26[27 - 29|30 - 32|33 - 35|36 - 3839 - 41
f: 3 4 B L AAeY 10 8 7 3
N = 50,

fREICEHCa =roi 7 @ *roi s Mol aeiTe! 1 2

- Answer any three of the following questions : 3x5=15
@ I feafo aee Teq e ¢
a) Calculate Median of the following distribution :
Scores : B 5 6 F < 8 9 10 11
¥ 2 2 6 18 31 22 15 12
oA IoA T4 A e 301 ¢
Scores : 4 L5 6 7 8 9 10 11
i 2 2 6 18 31§ 22 5 12
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b) Given ¥ x =80 and X x2 = 1000 for 32 scores ; calculate standard deviation
of the scores.

32%cmmwmix=soaaz§;x2=1000:@?@%@@11?{%55? W faefa @ |

c) In an achievement test, 20 students scored as follows :
_12 20 25 15 8 32 28 35 22 44
36 17929 ° 139 37 4B 21 10: 742

Calculate PR of score 17.

N =30 G5 oremifer ST 20 G BY [Fmel (IR (IR 8
12 20 25 15 8 32 28 35 22 44
36 17 29 13 93740 2110 42

17 CHIad PR a1 o |

of score
. d) What are the characteristics of normal probability curve Y
- Hroifs FeRAl afbraa el 1 2
3 e) Explain Skewness and Kurtosis of a distribution.
N=50 § Bt oo ((Sk ) @ Sl ( Ku ) 01 9 |
ok i Answer any five of the following questions : ) 5x3=15
+2+2 @ (@I oo 2eaa Ted = ¢
) (FHIEd a) What is meant by statistics ?
AR e & @RE 7
e b) Mention three uses of Ogive.
3 j . ewidred foafb IR SrEd A |
‘ N = 50 c) What will be the limits of class- interval if the interval be of 5 units and mid-
: point be 52 ?
e e 5 8 SR 52 20 (fA-TINE 9 & 2
- 1o d) Mention any three uses of median.
fifowca foaf @z Sy v |
‘ e) Given M = 45, ¢ = 6, convert a Z-score of 7-5 into a raw score.
e M=45. =6 %@ 7-5 NGH Z-CHEEE bl (FHCa AfE 4 |
: | f) Define linear correlation.
e i wzaifen e e |
: g State any two characteristics of Z-score.
3 7 carcam b TaiE Sead v |
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